th& ™M 1 ffm )/ n D, xy & fE& ot

AN /]
] \ !
1%\ 14 "y
B N "
Z N

11:5=14:x=y:7
o,

== B2 xy =98




2. o2 299 Attt E ACDF o4 AF //CD]a, AB:BC=1:2
4, CD 9] Zol& Fstofzt.

_--18cm- _

Ac—— 1)
Ez,/wcm\\
> @ E

o] g8 08519 BG = §x18 — 12(em) o]t} T

GE=15-12=3(cm) °]22 CD = 3x 3 = 9(cm) ©|t}.




:AE=BC:EG9|E25:3=10:x, x=6

CD:CF=AD:GF9|E25:2=5:y, y=2
T x=6,y=2




? (&, AD = 3cm, BC = 4cm )

Jolt

Z

7cm

3

@
®

PO : BC o]t}

AP:AB=3:70|2&

AP : AB =

3:7=P0O:4

w2t PO =

12
7

(cm) o]t}




FA =2cm©°]3, FP: PC =1:3¢¥ o, EC 2] Zo]=? (H, mABCD

B
F

APk D
B C

@ 6cm @ 12cm ® 18cm (@)240111 ® 30cm

FP:PC=1:30]2&
FA:DC =1:3=2:DC (0ABCD= A AZAFo|m 2
FB//EC °|t})

DC = 6(cm)

m2tA EC = ED + DC = 18 + 6 = 24(cm)




th2 BPAFAF ABCD o] W AD 919l H E
St EAH B £ ol Aol A4 AC &+ A
F oA 9hal AF = 4em, CF = 6em, BC =
9cm ]tk Al AE ©] dolE F-stoizt

AAFE @ ACFB 0|22
4:6=AE:9
. AE = 6cm




7.

S 1ol A AD 7} AABC 9] S4 ot} AABC 2] Hol7 10 &
f, AADC 9] Yo]& st

A

\VARR 4
0
AL
ot

AD = AABC o] ZXo|B R
w2t AADC = —AABC




8.

O 2™olM H G7F aABC O] FASAH L W, x+y9 g127

®9  @s ® 7 @ 6 ® 5

E 7} $4o|22 CE = AE
1— 1

7 C 2><0 5
BG:GE=2:10]2& 6:y=2:1
y=3

Lx+y=5+3=38

X =




9.

o2 8NN 1//m//no]2 AB:BC=1:29 W, x+y o gt-&?

A\
NN,

157 P\
/ ;
n

/ C\

@1 ou 01 @K O

4:y=1:20]BF y=_goJt},
x:15=1:30°]22 x =5 o|t}.
w2hA] x 4y = 13 °]t},




10. AD//BC ¢l Afthe]Z& ABCD oA AOAD = 15cm? ¢ ©l, AODC
o] \lo]& F5tH?

_-10cm~ _

A D

~<l4cm--"

@ 7cm? @ 10cm? @ 1l4cm?

@ 20cm? ®)21cm?

B ~
AODA 0 AOBC ©| 22
AO:0OC=AD:BC=10:14=5:7

wt2bA AOAD : AODC =5: 7

- AODC = 21cm?




11. o=

.

Hi} 242 AABCO| A
Z

D, Ex ZtZ} BC, AD 9] 53
o)1, AABC = 32cm? ¥

AACE 9] Hol&
> =
> A 8cm?

Fatelet.

s

AABCO|A AD =
AABD = AACD =

AACE = ACDE =

AACDOIA CEE &

FAlo

1

[\S)

Ao

—

DN | =

[R=k=3

[R=k=3
1

- ACD:§X

16 =

—AABC = % x 32 = 16( cm?)

8(cm?)




@ lcm

~&B

@ 2cm ® 3cm @4cm ® 5cm

L AG =

A M2 AABC O] 940|222 AM = BM = CM = 6 (cm)
d GE AABCO FAFAHIEZ AG:GM=2:1

m:§x6:4(cm)

W o




13. o2 19994 A G, G2 ZtZ} AABC, aGBC o] FAFAl o]t
AABC = 63cm? & T, AGG’C 2] Hol|E vt 13+ A-2?

A

@ 6cm? @) 7cm? ® 8cm?

@ 9cm? ® 10cm?

AGBC = %AABC ojmz
AGBC = 21(cm?)
AGG'C = %GBC ojm g

AGG’C = 7(cm?)




A2

Mo

14. H G7FaABCO FASHL W, th& 5 &
A

(@) sBCG 2 DAFGE®] Hol vl 1: 1
@ aGBC = ACEF

® AFBG & AECG

@ ABCG 2} AEFG O] Hlolo] =21
® FG:CF =BG: EG

@ AGBC = AACG = AABG
@ ABCG : AEFG =4:1
®FG:CF=1:3,BG:EG=2:1




o

15. & 13004 A G sABC O FAFA 1L,  E7FDCO S Y
T, AGBD : AAEC &7

A

AABC = Sz} o},
AABD = 1S AGBD = 1AABD = 1S
27 3 6

1 1 1
AADC = 58, AAEC = EAADC = ZS

AGBD : AAEC = =2:3

S| =
=~ =




16. o3 21" e PYPARIY ABCD 9] & W BC, CD 9] S8
247 B, Fet sta, BD o} AE, AF 9o %< 22 P, Q@ gk,
BD = 12em % o, PQ 9] Zo|& 317

@ 2cm @ 2.5cm 3 3cm

P o] £ e A2 o2 24 ol EstnE
P, Q¥ aABC, AACD 9| RAIZA 0],

BO = 6cm©] 2, BP : PO =2: 10|22, PO = 2cm, *HHA]
2 QO = 2cm ot} w2hA PQ = 4em O




17. & I A AB // PQ // DC , AB =
10,PQ = 6 & 1, x 9] FHe?

O 12 @ 13 ® 14

(@)15 ® 16
B

BC:QC=AB:PQ°|E&
PQ:CD=BQ:BC
6:x=2:5

x=15




18. o3 I"HoA A G 2 G 2 2+ AABC ¢ AGBC 9] FAGAHY
o, AG : GG : G’DE?

A
B D C
@ 2:1:1 @ 3:2:1 ® 4:2:1
@ 5:2:1 ®)6:2:1

A Q9@ & ZH7F AABC € AGBC 9] £AEAo|BE GG -
GD=2:1, AG:GD=2:1 o[t}

GG =2G'D, AG=6GD o222 AG:GG :GD=6:2:1
o},




HYPAAFABCD oA 3 M o] BC 9] 58 o, cOBMP 9] Hlol&=
HPAAPABCD Heolo] 2 vjQlA] oozt

A D

H P = ADBC 9 ZAFA 0|22
oOBMP = %ADBC

ADBC = %DABCD

oOBMP = %DABCD




20. o FPAPY ABCD oA A M,

N2 Z2}
ADPN = 25cm? ¥ o, gABCD 9] Yo|E +3}

,CiDPJ ol

rEO

A

w,

@ 300 cm? @ 350 cm? @ 400 cm?
@ 450 cm? 0500 cm?

AB/QM Q QM & 1°oW

AR=RN,MR:DN=3:2

AP:PN=8:2=4:1

AAND : ADPN =5:1

ADPN:EAAND
:—XEDABCD
51 4

. OABCD = 20ADPN = 20 x 25 = 500( cm?)




